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d e c l a r e  v a r i a b l e

start
d e c l a r e  v a r i a b l e

let x = x+1

Write X

end  o f  ~roc~ram.

w-i te X

ii:
End.

b . s e l e c t i o n

b.1 if then

F

i f  ( c o n d i t i o n )  t r u e

then do task A

e n d  o f  i f

do task B





















program ex3(output);

var

low, term : real;

sign, n : integer;

begin

logn := 0;

sign := 1;

n := 1;

term := 1;

writeln('n  logn term’);

while(term  >= 0.0001)

do

begin

term := 1.0/n;

logn := logn + term*sign;

writeln(n, logn, term);

n := n+l;

sign := -sign

end {end of while}

end.







1 average = sum/howmany

















1 0 8

50 FOR I = 1 TO 10 STEP .5

100 NEXT I



3. nis'l.ii nes t ed  f o r  l o op  finh-rLnn  r-h

3.1

10 : for i := 1 to 10 do

begin

f o r j  :=l  to5do

begin

end;

i f  ( c o n d i t i o n )  t h e n  g o  t o  1 0  :

end



for i

begin

program exfor...

for i := 1 to 100 do

begin

end
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Which Loop Primitive Should I  Use?

In this chapter we have introduced three statements for

p e r f o r m i n g  i t e r a t i o n  i n P a s c a l - - t h e  w h i l e ,  r e p e a t ,  a n d f o r .

You w i l l need to choose the appropriate one when you begin

w r i t i n g YO”I- programs. In many cases it won’t matter , but

these two guidedlines can assist you in making the r i g h t

choice.

1. T h e f o r l o o p  i s  t h e  l e a s t  f l e x i b l e  s t a t e m e n t

and s h o u l d  never b e  u s e d w h e n there a r e  t w o  o r  more

c r i t e r i a for  loop  emination.  Y o u  w i l l  g e t  y o u r s e l f  i n  t h e

f o l l ow ing  b ind .

{loop can terminate after 100

iterations or upon encountering a negative value}

for i := 1 to 100 do

begin

readln(x)  ;

if x < 0 Then ????

else

{ p r o c e s s  t h i s  d a t a  v a l u e }

end  { f o r  l oop }

What do we put in for the question marks? It will have to

be an unconditional branch. If we had selected a while

o r repeat ( the l oop termination conditions could have

been phrased as



1 1 2

while (count C= 100) and not(x  c 0) do

2. When choosing between the while and repeat

take a carefule  look at the null case -- the situation in

which there are no data to process The repeat loop will

alWayS execute the 100p today at least once and may not

correctly handle the null case.


